6816NB DRILL

k

e Esptionsl P Tok Qoping

P

6816NB - 16mm Electric Drill

Item No [Part No |Description Item No [Part No |Description

1 628008 [chuck 46 314066 |Left Handle
251009 |Retainer 47 412001 [cable

116004 |bearing cover 48 628009 |Chuck key

133038 |spindle

276002 [key

211054 |bearing

143020 |Sleeve

[o=] EN] Ko ) KU, FEN) RUST |} I5)

231033 |screw M5X35

9 162028 A|gear case

10 211019 |bearing

11 136045 |Inter gear

12 271002 [steel ball 4

13 136047 |Small gear

14 231086 |screw M5*40

15 136046 |Big gear

16 252005 |Retainer

17 |163005A|middle case

18 211040 |bearing

19 442008 |armature

20 110007 |Baftle plate

21 211007 [bearing

22 331001 |bearing sleeve

23 231037 |screw

24 441010 |field

25 |164001A[housing

26 627018 |side handle

27 541084 |name plate

28 432005 |brush holder

29  |431009B|carbon brush

30 433006 |brush cap

31 314125 |back handle

32 252001 |retainer

33 231095 [screw M8*20

34 235001 |screw M5*8

35 |168002A|back cover

36 231010 |screw M5*25

37 542036 |name plate

38 338003 |rubber sleeve

39 231016 |screw M4*10

40 314067 |right handle

41 221011 |screw ST4*20

42 332006 |cord protector

43 445018 [switch

44 443007 |capacitor

45 318001 |cord clamp




